XFrame Non-Load
Bearing Wall Details

Version: July 2024 | System: 8.26i

Document Contents:

01.
02.
03.
04.
05.
06.
07.
08.
09.

Cover & Contents

Standard 2.4m Panel Configuration
Standard 3.0m Panel Configuration
Generic 2.4m Wall Elevation

Wall to Floor Hold-Down

Wall to Ceiling Seismic Deflection Bracket
Wall to Structure Junction

Wall to Roof (Free-Standing).

Ceiling

X XFRAME

) 9 99



Frame Elevation

All locking plates and angular members are
12mm F8 structural pine plywood.

600.00 600.00

7z N\ N\,
N A
_1__U_H_ 1
11
< |0
_— A :::E \ iiiiiiiiiii
Il
o DI I[:l
S i
Q i
il
NN ::%,f,f , / fffffffffff
Il
S > O i
o. : D II ° ° o
§ >\ : : i
o Ol
_— :::Ef—f— \ iiiiiiiiiii
Il
5 i
S RN _
I II: :II M6 90mm Bolt with
DI |lj washers earch side.
76.00
NN L] %,f,f Ll / fffffffffff
Floor S D: :D |
Ty —— o ——
j I/
21mm Plywood Panel Locking Plate AN

Drawing Name:
Drawing Set Drawing Version: Author: Date Issued: XF Version:

/\/l X F R A M E 1 .2 Mm X 2 .4m Sta f] d a rd Pa f] e I CO nfi g u ratio N XFrame Non-Load Bearing Wall Details July 2024 GF 22-07-24  8.26i



Frame Elevation

All locking plates and angular members are
12mm F8 structural pine plywood.

600.00 600.00

o [
S
.|:|.||
o [
S

600.00

12mm F8 Structural Plywood I

1200.00

3000.00

1200.00

M6 90mm Boltwith ~~  L—]
washers earch side.

Floor \_]

21mm Plywood Panel Locking Plate j

Drawing Name:
Drawing Set Drawing Version: Author: Date Issued: XF Version:

/\/l X F R A M E 1 .2 Mm X 3 .O m Sta f] d a rd Pa f] e I CO nfi g u ratio N XFrame Non-Load Bearing Wall Details July 2024 GF 22-07-24  8.26i




8 600.00 600.00 600.00 600.00 600.00 600.00
(or 110mm) 7 P i< >K >K >I< X X }
Wall Plan > Faupe
<o 0 <o Ol <o Ol & o 0 s o
- - s Tl
S I i i S
S T T I .l
S ”H” ”H” ”H” I
- UII UII Hll o H
HH HH HHE M-
o %D::Df %DHD& %D::Dy 0 S [
g X——o |l iR = {engeam) =
N 2 00 0 2 Ol0 PRIRN 0 2 1
ﬂ:: :& ﬂ:: ﬂ:: :& ﬂ: e §
3 i o i S
S T T, T, —
S ”H” ”H” ”H” I
- HII HII |:||| Va |:|
HAl® HAL® Hele il
S glg ¢ S 2 S il S 2 S glg ¢ S g ¢ S
Floor N :_:L_Inl__l:l | o e e § | J:l__lnl__:l | Co——oo | B | Co=—a | — |

21mm Plywood Panel Locking Plate /\ L M6 90mm Bolt with washers earch side. Wall end when abutting other structure. J

Fixings to engineers specifications.

Drawing Name:
Drawing Set Drawing Version: Author: Date Issued: XF Version:

/\/I X F R A M E h G e f] e ri C 2 .4 m Wa I I E I evat i O N XFrame Non-Load Bearing Wall Details July 2024 GF 22-07-24  8.26i



NOTE: Detail appropriate for NON-LOAD BEARING INTERNAL WALL ONLY. Check local requirements and confirm specification adequacy with project structural engineers.

XFrame Panel Seam Build-Up

76,00

38.00

A4
/N

Hex Head M6 x 90mm Galvanised Bolt

with one washer.

XFrame 21mm Panel Joiner/Packer

DPC per local code requirements.

Concrete Hex Screw Bolt M10 x 120mm

ais
| | |
I I I
| | | N
R — . ———— S E—
- - A EEE \
, \ . . / 8‘AY | \ / /
_ _ ‘ — —
\ el / \ /
/ / \ \© H \/ / )
/ \ / \ I . \
/ /\
/ A v / / N /

Drawing Name:

,\/o XFRAME  Concrete Screw Bottom of Wall Detail

Galvanised with 40mm square washer.

Structural Floor

Drawing Set Drawing Version: Author: Date Issued:

XFrame Non-Load Bearing Wall Details July 2024 GF 22-07-24

XF Version:

8.26i



XFrame Panel Seam Build-Up

76,00

38.00

Hex Head M6 x 90mm Galvanised
Bolt with one washer.

L
| I |
I T I
I || I XFrame 21mm Bottom Track
L
E;EEEEEE;EEEEEE;EEE;E;EEE;EE;EE;EEE;{E:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::,{:::::::: False Floor Deck
T T
° Il
< } } Wurth M8 Hybrid Timber / Concrete Screw (min.
V4 40mm embeddment) @ 1200mm cnts.
False Timber Floor Blocking
—_—— = DPC per local code requirements.
— — <7 — — ~ ) L p q
\ . / B \ ) i /o B / :§ N Concrete floor.
A \ ~ / A\ \ / /

Drawing Name:
Drawing Set Drawing Version: Author: Date Issued: XF Version:

/\/l X F R A M E Fa I se Ti m ber F I oor - Screw An Ch or Deta i I XFrame Non-Load Bearing Wall Details July 2024 GF 22-07-24  8.26i



NOTE: Detail appropriate for NON-LOAD BEARING INTERNAL WALL ONLY. Check local requirements and confirm specification adequacy with project structural engineers.

TrackLok System

Option to use TrackLok Timba into a 90x45 top plate
that is screw fixed to the TrackLok timber bracket.
XFrame can be screw fixed through brackets to this
top plate.

Option to use TrackLok (standard) directly bolted into
XFrame. Removes need for 90x45 top plate.

1
T W T
w | Hl I XFrame 21mm Panel Joiner.
'Q ! TT I
S I I '
T
CE% S I I ,j Hex Head M6 x 90mm Galvanised Bolt
e e . with one washer.
, 7600 N
38.00 ,

XFrame Panel Seam Build-Up

Drawing Name:
Drawing Set Drawing Version: Author: Date Issued: XF Version:

/\/l X F R A M E h DEfI ect i O N H ea d Wa I I Deta i I (Tra C kLO k) XFrame Non-Load Bearing Wall Details July 2024. GF 22-07-24  8.26i



NOTE: Detail appropriate for NON-LOAD BEARING INTERNAL WALL ONLY. Check local requirements and confirm specification adequacy with project structural engineers.

Only suitable for 92mm wall thickness.

| - |
~ -
| |
~
- S
~
-
— ~
P
~
~
| |
-
_ —
|
— ~ -
~
~ | |
-
—
~
S [ | 9
- 8
o~ |
~ —
| |7 -
- ~
- r
~
~
N \ |
~
| ~
- ~
P -
‘ -
™~ ~
b - |
=
‘ ~
/ \
o~
~ - | ~
| ~

X XFRAME'

Drawing Name:

XFrame Wall to Structural Element (S2)

12mm Wal Lining to Client Specification

Standard Detail is 92mm x 45mm light steel deflection track
fixed to Post/Column other structure. At least 10mm*
clearance between XFrame panel and Post/Column. Non-rigid
insulation can be installed between panel and post.

* Check building specific deflection requirements.

DPC per local code/material requirements.

Primary Structural Post / Column

Drawing Set Drawing Version:

XFrame Non-Load Bearing Wall Details July 2024

Author:

GF

Date Issued:

22-07-24

XF Version:

8.26i



1200.00

O ° ° (@) o o OK o ° O
I T T T T 1 | S N S — — I T T T T 1
20mm diameter hole at 600mm centers for
Frame Plan View electrical pass-through vertically. Matching
42mm wide LVL Rafter bolted to XFrame holes cut into brace members.

'X-Stud' members extend to collect rafters.
2x 18mm plywood with 2x M10 100mm Bolts.

wall frame. Panels locked together via iwi iwi
bolts and ceiling. No top plate required. \ﬂ:%:b n:%:p !
N

H =P B =3 o
//—/’/ °
12mm XFrame Brace Member =
0 0 0 0
00 0 O
H P 1 [=E=E °

S0
Al
0
0

S0
-
—
o U
A
—
—_
&

S e n SOl 2
Z = = (= % = ) = = . & 12mm F8 Structural Plywood Member
=
“ 1o 00 I] o 00 &
M8 90mm Bolt with
washers earch side.
00 00
00 00
F\
21mm F8 Structural Plywood Member
H =P H =P o
Q oo 4 Q oo < 0
[ Nl 72 —_ - , - - ;  —  — , ]
21mm Plywood Panel Locking Plate -7
Front Frame Elevation Frame Side/End Elevation

Drawing Name:
Drawing Set Drawing Version: Author: Date Issued: XF Version:

/\/o XFRAME 1.2mm x 2.4m Standard Panel with Roof Connection XFrame Non-Load Bearing Wall Details July2024  GF 220724 8.26i



Up to 580mm diameter opening size for HVAC services

o [e]
1 0
— N N
(o) [e]
o o
S S
o o
o o
(o] (aV]
(o) o
= %
0|
(o) o
Ceiling Structure Plan (non-standard opening) Ceiling Structure Plan (Typical)
1200.00 1200.00
N — ZIN 7
[
|11 N R ||| - oo -

]

Ceiling Structure
LVL Rafter
Engineer to spec.

Wall Frame J

Elevation

Drawing Name:
Drawing Set Drawing Version: Author: Date Issued: XF Version:

/\/o XFRAME Member Arrangment Options for Ce|||ng Services XFrame Non-Load Bearing Wall Details July2024  GF 220724 8.26i





